Annexure-4 for PE# 3/PE181181/8
A F §

" [51. No. [Material Code | Material Description Unitt | Qty
1 700094301002/ ADAPTER 4HTXS (JIC 7/16" x JIC 7/16") ‘No | 20
| 700094301003|ADAPTER 5HTXS . No | 20
3. | 700094301004|ADAPTER6HTXS = No:| 20
4' | 700094301005|ADAPTER 8HTXS (JIC 3/4" x Jic 3/4") No .| 20
5 | . 700094301006/ ADAPTER 10HTXS ! : ‘No | 10
6 | : 700094301007 |TEE ADAPTER 4JTXS $ iNo | 10
7 ﬁooouamooaTEE ADAPTER 8JTXS ‘No:| 10
8 700094301009| TEE ADAPTER 10JTXS No: | 10
9 | 700094301098|90 dEG. Elbow 3/4"-16UNF X 3/8"BSP . No .| 20
| 10° | 700094301099|Long Adaper 3/4"-16UNF X 3/8"BSP No | 20
|11 | 700094301191 |Swivel Elbow 90 Deg. 3/4"-16m X 3/4" fitting with nut (M/F) No | 20
12 700094301192{90 Deg. Male Elbow 7/16"U X 1/8"N ‘No!| 20
13 700094301404/90 Deg. Washer Elbow 7/8"JIC X 3/4"UNF (10-8CXS) (10-8C50XS) ‘No:i| 20
14 700094301405/90 Deg. Elbow 3/4"JIC X 3/4UNF (8C50XS) No | 20
15 | 700094301406|BH Tee 7/8"BH Lock Nut (10WJUTXS) No: | 10
16 700094301407 |BH Tee 3/4"BH Lock Nut (BWJTXS) No ' | 10
17 700094301409|Union 7/16"JIC X 7/16"JIC (AWMTXS) No - | 20
18 700094301410{Union 3/4"JIC X 3/4"JIC (BWMTXS) No | 20
19 700094301411|BH Union 7/8"JIC X 7/8"JIC Lock Nut (10WMTXS) No.| 10
20 700094301412{90 deg. Clinch WH Elbow 7/8"JIC X 3/4"JIC (10-12C40XS) No:| 10
21 | 700094301413|Swivel Tee 9/16"JIC X 9/16"JIC X 9/16" 6REMXS No | 10
22 | 700094301414|Swivel Elbow 1.7/8UNFJICX1.7/8"F (24C6XS) No | 20
23 700094301416{90 Deg Swivel Elbow 9/16"JIC X 9/16"F (6C6XS) No | 20
24 700094301417{45 Deg. Swivel Elbow 9/16"JIC X 9/16"F (6V6MXS) No | 20
25 700094301418|{SW Tee Equal 3/4"JIC X 3/4JIC X 3/4JIC (8TMTXS) No | 10
26 700094301419|SW Elbow 3/4"JIC X 3/4F (8CEXS) No | 20
27 70009430142145 Deg Swivel Elbow 1.5/16"JIC X 1.5/16"UNF (16V6MXS) No | 20
28 700094301422|45 Deg Swivel Elbow 1.7/8"JIC X 1.7/8"UNF (24VBMXS) No ‘| 20
29 700094301423|SWIVLE TEE 7/8JIC X 7/8JIC X 7/8F (10R6MXS) No | 10
30 700094301424|90 Deg WH Elbow 1.5/16JIC X 1.5/16 WH Rlg. Rg (16C50MXS) No | 20
31 700094301425|45 Deg WH Elbow 1.5/16JIC X 1.5/16 WH Rlg. Rg (16V50XS) No | 20
32 700094301426|90 Deg Swivel Elbow 1.5/18JIC X 1.5/16" F(16C6XS) No | 20
33 700094301427|BH Adapter (Hex-36.0) 1.1/16JIC X 1.1/16" (12WMTXS) No | 10
34 700094301428/90 Deg. Washer Elbow 7/8"JIC (10C50MXS) No | 20
35 700094301430/90 Deg Washer Elbow 1.1/18UNF JIC X 3/4UNF (128C50XS) No i | 20
36 700094301431/90 Deg Washer Elbow 3/4"UNF JIC X 3/8" BSP (8C40MXS) No | 20
37 700094301432{90 Deg Washer Elbow 9/16"UNF JIC X 3/8" BSP (8-6C40MXS) No. | 20
38, |  700094301436|ELBOW 3/4"-16 X 1/2 BSP No 20
39 700094301437 |ELBOW 9/16"-18 X 1/2 BSP No | 20
40 700094301438 No | 20

CONNECTOR 7/16" X 1/8"

1.Bidder Should submit their offer as per terms & conditions given under Annexure 1, 2 & 3
[ANNEXURE -1(Pre -Qualification Part) ANNEXURE-2(T echnocommercial Cum Price Part) &
Annexure -3 (Pre-Qualification Criteria)] :

2. Offer submitted in single part will be rejected

W

Asst. Sudt (Phy)

3




